3apayva 16 Pasnoxutb AaHHyto cdyHkuuio f(x) B pag ®ypbe B 3agaHHOM UHTepBane (a;

b):
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f(x) =x +1,

f(x) = (- X)/2

f(x)=|x-1],

f(x)=x-1,

fO = Ix],
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fx)=[xl-5, (-2; 2).
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fx)=1-x, (-3; 3).
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16.2 fx)=x>+1, (-2;2).
16.4 f(x) = |x| +1, (-1;1).

- < X <0,

0<x<m, (i 7).
16.7 f(x) = |x|, (-m; ).
16.9 f(x) =x2, (0; 2n).
-T<X<0,
(-m; m).
0<x<m,
16.12  f(x) = 2x, (-1; 1).
16.14 f(x)=3-x, (-2;2).
-2 <x<0,
(-2; 2).
0<x<2,
16.17 f(x)=2x-3, (-3;3).
—-t<X<0,
(-m; m).
0<x<m,

16.21 f(x) =3 - [x|, (-3;3).
16.23 f(x) =4x-3, (-5;5).
-6 <x<0, (-6: 6).

0<x<6,
—-t<X<0,
(-m; m).
O<x<m,
-t < X<0,
(-m; m).
0<x<m,
-3<x<0,
(-3; 3).
0<x<3



1, -1<x<0,
16.29 f(x)= (-2; 2).
X, 0<x<1],

16.30 f(x)=e*, (-2;2).



